2015, ( TCST posditapin) i

00L3 5all \JU\ ‘}‘iho\,.'o\u!l‘pb'a‘,\a.‘..\

1 (101 04) § ¥y 1

Lt 3t dg= (1

Lou

120° ¢150° .35° (10

n 3n . .
< rad . 2 rad : d>yudt N J3> (o

1

:Qb)'ﬂ'l Je> 3,90 250 e $'....ln..a‘;.4§(
.,«.564{}0 .'.‘IJ\LJ..A ).ln.i —tid ;;I Lle a)'...u.a J,.lo _J._?.ji

(L 04) :'tm'! o\

AL Blaludl ya,0-1

-
S

(cosx+sinx )" 1+2cosxxsinx

(cos x—sinx )“' 1-2cosxxsinx
(cosx+sinx)x(cosx—sinx)+(sinx )" (cosx )"
(sin.\'f sinxx(cos )“' sinx

-

[ 4 0.%] uﬂ)ﬁﬂ-’h‘- .'l"z
L &

9 | —

ctanx gtan x 9. SINX wwwe>! . COSX

1(Jola04) 240N, I

AL Ll e Al 0 el Gudll uagi-1
2 p.
Slx 3181”1":1:13 -O:Jrrudjl"l”rad

6 3 : 2

121y (. 201x 2017
B =sin SN cos
2 4 4
|

2\,[.1'.4 .Ln...u.l 5}1.;‘..;.” .u.\,..i.'\ JLA.LLA:._J—B

C=cos(m+x)+cos(=x)+sinx+sin(7—x)

(bW 08! :\i\'s E\
gVl
px)=(x=3) +(2x-1)(x-3) :de> x _Asdoel pizell el 5,Lall paa

plx) )...‘u.i‘l -1

p(x)=0: dolacl M usgl o p(x) U -2

x)<0 . :
P(x) (: dx>lisdl Mo uxi-3
:éU\o}l‘-\
“ 4 Syt D
E(x)=2X 3%+ 2 o\ a0 oS2)

x —4
SE(x)5,lall dcgiall @all A L .1
(x+1)(3x+2)

X

E(x) 1E(x)5,lal] 45¥ LU Ao o 335 .2

E(x)=0: dolacll > u>gl .3
e | H | PRES]
A(x)=x"—5x+6 :3,lall S}
TA(x) =0 dolal] > usql .1
ALl > 2

A(x) 3
J \39.5,4.;_"! JEd Lacl



sJe¥t s paill

PP AL AN 3 R S P PR P PR |
36° s 67.5° ; <l Al Uy sil-2

3200000km | Jhaddl J gh--3

U o yail)

:3‘,'.....“.“ ‘_‘J'J).‘I

(cosx+sinx)” =cos’ x+sin’ x+ 2cos xsinx=1+2cosxxsinx~-1

(cosx—sinx) =cos’ x+sin’ x—2cos xsinx= 1+ 2cos xxsinx=2

(cos x+sinx)x(cosx—sinx)+ (sinx) = cos’ x—sin’ x+sin’ x(=cosx) =3
(sinx) +sinxx(cos) =sinxsinx’ +sinxcosx’ = sinx(sin’ x+ cos’ x)=sinx~-4

SiN X \ﬁ

tanx =3 -5
ctanx=:;i

» adlil w.-l-“
:g""':.‘:')“ il

% j%md J%md Jizr-rad

amadl A
4=1 N
Bl
C =2sinx

s pil g il

p(x)=3x"-13x+12 il
p(x)=(x-3)(3x—4);Jdadll

x =3 o Al >
4

.‘I.‘_. ;

4.3

3" ]
Ao giaall Al
x#2

x#=2

Bgludl i) S,
x, =-1

2l s

3

L ARPIAL >

-
2 |t
&= —-

L-*



